
Psychology – Paper- Set Set-W-2 
1. “Maturation is a net sum of genetic effects operating in a self-limited 

cycle”. This was stated by 

1. Galton 

2. Pavlov 

3. Gessel 

4. Hurlock 

2. Incorrect statement regarding development  

1. follows uniform pattern 

2. will have individual differences 

3. is uniform in all stages 

4. a cumulative process 



3. According to Kohlberg, the level at which the children obey their 
parents inorder to avoid punishments is seen at  

1. Pre conventional morality level 

2. Conventional morality level 

3. Non-conventional morality level 

4. Post conventional morality level 

 

4. According to Guilford’s theory of Structure of Intellect units, 
classes, relations come under 

1. Contents 

2. Operations 

3. Products 

4. Elements 



5. The intelligence test that consists of both verbal and non-verbal tests 
is 

1. Weschler’s intelligence Scale for Children (WISC) 
2. Army Alpha Test 
3. Army Beta Test 

4. Raven’s Standard Progressive matrices 

 

(WISC)

6. The person with “Spatial Intelligence” is known as  

1. Number smart 

2. Self smart 

3. Music smart 

4. Picture smart 

 

 

  



7. A child is a reflective organism  at this stage 

1. Sensory Motor stage 

2. Pre operational stage 

3. Concrete operational stage 

4. Formal operational stage 

 
8. According to Vygotsky silent inner speech in children is found at 

this age 

1. 2 years 

2. 3 years 

3. 5 years 

4. 7 years 

   



9. Following is not a sub test of Differential Aptitude Test (DAT) 

1. Verbal reasoning 

2. Numerical ability 

3. Musical ability 

4. Mechanical reasoning 

(DAT) 

10. Cumulative rating scale was prepared by 

1. Thurston 

2. Likert 

3. Thorndike 

4. Guttman 

 

 

 

 

 



 

11. The type of memory that is classified based on time of retention 

1. Sensory memory 

2. Rote memory 

3. Logical memory 

4. Active memory 

12. Proactive and Retroactive inhibitions are related to  

1. Intelligence 

2. Forgetting 

3. Aptitude 

4. Motivation 

  

 

  



13. According to Peter Sandyford the physiological trait that determines 

personality is 

1. Skin colour 

2. Blood group 

3. Height 

4. Weight 

 
14. Watson experiments on 11 year old boy Albert is related to the 

following learning theory 

1. Social learning theory 

2. Trial and Error theory 

3. Operating Conditioning theory 

4. Classical Conditioning theory 

  



15. Following is not related to cerebral palsy 

1. Athetosis 

2. Flexibility 
3. Spasticity 

4. Ataxia 

 

 
16. As per RTE – 2009 the number of teachers required for a Primary 

school, where the number of pupils is 52  

   
RTE – 2009 
 

1. 2 

2. 3 

3. 4 

4. 1 

 

  



17. Among child rights, the Right to Information comes under 

1. Right to development 

2. Right to live 

3. Right to participate 

4. Right to protection 

 
18. “Maternal drive” is a  

1. Safety need 

2. Physiological need 

3. Need for self actualisation 

4. Esteem need 

  



19. The theory proposed by Charles Judd to explain the transfer of 
learning is  

1. Theory of identical elements 

2. Theory of ideals 

3. Theory of generalisation 

4. Theory of insight 

 
   

1.  

2.  

3.  

4.  
 

20. Directive leadership can be compared with  

1. Democratic leadership 

2. Authoritarian leadership 

3. Leissez faire leadership 

4. Permissive leadership 

 

  



21. A person who is unable to choose between two equally attractive 

goals is subjected to the following conflict 

1. Approach-Approach 

2. Approach-Avoidance  

3. Avoidance-Avoidance 

4. Dual Approach-Avoidance  
 

 

22. Kalyan failed in his love affair. Later he concentrated his thoughts 
on writing poetry and became a great poet. Here the defence 
mechanism is  

1. Projection 

2. Rationalization 

3. Sublimation 

4. Repression 
 

 



23. Following is not a method of enhancing retention 

1. Over learning 

2. Use of mnemonics 

3. Attention 
4. De Javu 

 
24. Author of the book “Psychological Modelling”  

1. Vygotsky 

2. Bruner 

3. Bandura 

4. Chomsky 

 



25. The persons with the following disability are unable to read and 

write the language which is in print form 

1. Aphasia 

2. Alexia 

3. Dysphasia 

4. Dyscalculia 

 
26. The Chairman of the National Curriculum Frame work 2005 is  

1. Dr. Swaminathan 

2. Prof. Rama Murthy 

3. Prof. Yeshpal 

4. Dr. RamachandraGuha 

  

    



27. ‘Articulation’ is related to  

1. Cognitive domain 

2. Affective domain 

3. Psychomotor domain 

4. Both Cognitive and affective domain 

 

  

 

 
28. Semantic Differential technique is used to assess 

1. Attitude 

2. Aptitude 

3. Intelligence 

4. Self-concept 

 



29. The over secretion of ‘growth hormone’ causes Gigantism. The 

gland responsible for this is, 

1. Thyroid gland 

2. Para thyroid gland  

3. Adrenal gland 

4. Pituitary gland 

 

30. Number of teeth formed in a child by the end of 2nd year  

  

1. 8 

2. 10 

3. 18 

4. 32 

  

















 



 

   



English – Paper- I – Extra Set -9 

61. Choose the verb form among the given word family 
1. beautiful  

2. beauty 

3. beautifully 

4. beautify 

62. Choose the suffix that can be used to make word the 'comfort' an 
adjective 

 
1. - est 

2. - able 

3. - ous 

4. - ish 

63. The security staff ushered the minister into the building  
 Choose the synonym of 'ushered' in the given context. 
 

1. attacked 

2. escorted 

3. protected 

4. surrounded 

 
64. Choose the antonym of 'competent'.' 
 

1. discompetent 

2. uncompetent 

3. incompetent 

4. miscompetent 

 



65. Choose the sentence in passive voice. 
 

1. How often is the water tank cleaned ? 

2. What happened to your bike ? 

3. Why are you looking so sad ? 

4. He stood by her. 

 
66. They formed …….. union here. 
 Choose the correct article that fits the context. 
 

1. a 

2. an 

3. the 

4. No article is needed. 

 
67. Choose the word that cannot be an adjective; 
  

1. agility 

2. errant 

3. relentless 

4. vigilant 

 
68. Where do these people come ……….. ? 

Choose the correct preposition to complete the meaning of the 
sentence. 
 
1. at 

2. under 

3. from 

4. since 

 



69. An adjective cannot describe; 
 

1. opinion 

2. size and colour 

3. number 

4. possession 

 
70. Identify the sentence that indicates a positive degree 
 

1. Actions speak louder than words. 

2. Stolen fruit is the sweetest. 

3. Roja is not so tall as Gita. 

4. Roja is as the tallest as Gita. 

 
71. Choose the concluding sentence that can be written in a formal 

letter. 
 

1. We are missing you here. 

2. Thanking you 

3. With live, 

4. Give my regards to your parents. 

 
72. Choose the word that can be used to write a relative clause. 
 

1. As 

2. That 

3. For 

4. Since  

 
 
 



73. Both I and Hari don't like horror films. 
The underlined part has an error. To correct the error we have to 
replace the underlined part with 
 
1. Hari and I  

2. I or Hari 

3. I but Hari 

4. I beside Hari 

 
74. The past participle form of  'flow' is; 
 

1. flown 

2. flowed 

3. flewed 

4. flew 

 
75. The pen ………. is on the book is mine. 
 Choose the conjunction that fits the context. 
 

1. who 

2. when 

3. which 

4. where 

76. Naresh does not believe in the God. 
 This sentence has an error; 
 

1. in the subject 

2. in the verb 

3. in the usage of 'article' 

4. in a agreement of the verb with the subject 

 



77. I bought a computer for my sister. 
 This is a simple sentence because; 
 

1. This has only one independent clause. 

2. This has two finite verbs. 

3. This has no finite verbs. 

4. This has only one dependent clause. 

 
78. Choose the sentence that has a subordinate clause. 
 

1. The cat is chasing the rat. 

2. The baby cried. 

3. I saw him yesterday. 

4. He will miss the bus unless he runs fast. 

 
79. Choose the correct 'be form' that can be used to change the present 

perfect tense and the past perfect sentence into passive voice. 
 

1. was 

2. been 

3. is 

4. were 

 
80. Choose the sentence which takes the conjunction, 'that' while being 

transformed into reported speech. 
 

1. She said, "Are you safe?" 

2. She said, "Who is this?" 

3. She said, "How are you?" 

4. She said, "How tall this tree is!" 

 



81. Choose the correct spelling of the word. 
 

1. pnomonia 

2. neumonia 

3. pneumonia 

4. pnewmonia 

 
 Read the following passage and choose the correct answers to 

the questions given after.  
 
 Trees help us to get rain. The leaves of trees breathe out a lot 

of water vapour into the air. This makes the air cool. The cool 
air helps rainfall. Rain gives us water. No one can live 
without water. Trees give us rubber also. From the sap of 
trees, we get rubber, a very useful thing. Some trees like 
eucalyptus give medicines. 

 
82. This passage describes: 
 

1. the medicines made of the sap 

2. the uses of trees 

3. the kinds of trees 

4. the value of leaves 

 
83. According to this passage, 'eucalyptus' is; 
 

1. a medicinal plant 

2. a rubber tree 

3. a rainy plant 

4. a water plant 

 
 



 
84. According to this passage, the basic source of water is; 
 

1. eucalyptus tree 

2. air 

3. rubber 

4. rain 

 
85. "No student should be considered as qualified for a degree or P.G. 

Degree, unless he has acquired a reasonable proficiency in English". 
  

This was said by : 
 

1. Radha Krishnan University Education Commission. 

2. Official Language Commission 

3. Kothari Education Commission 

4. Mudaliar Commission 

 
86. The number of monophthongs in English is 
 

1. 12 

2. 10 

3. 20 

4. 8 

87. One cannot follow announcements, broadcasts, lectures, plays and 
films. This is because of his inadequacy in: 

 
1. Writing  

2. Speaking 

3. Reading comprehension 

4. Listening comprehension 

 



88. If the test yields dependable scores which do not fluctuate very 
much, that test is: 

 
1. valid  

2. reliable 

3. practical 

4. scorable 

 
89. The method which establishes a direct bond between experience and 

expression, word and its meaning is: 
 

1. Bilingual method 

2. Audio-lingual method  

3. Direct method 

4. Translation method 

 
90. Reading headings and subheadings come under this strategy of 

reading:   
 

1. Scanning  

2. Skimming  

3. Intensive reading  

4. Extensive reading  



Paper – I - SET – 9 – Maths Content 

 

91. If A = 3x3 + 8x2 + 5x + 2;  B = 3x2 – 2x + 7 then A – 2B = 

A = 3x3 + 8x2 + 5x + 2;  B = 3x2 – 2x + 7  A – 2B =  

1.  3x3 + 2x2 + 9x + 12 

2. x3 – 2x2 + 9x – 12  

3. 3x3 + 2x2 + 9x – 12  

4. 3x3 + 2x2 – 9x + 12 

 

92. If x = 0 and y = –2 then the value of 4x2 – 5y + 2 is  

x = 0   y = –2 4x2 – 5y + 2  

1. 14 

2. 12  

3. 10 

4. 8 

 

93. Highest Common Factor (HCF) of 12, 30, 36  

12, 30, 36  

1. 6 

2. 8 

3. 4 

4. 2 

 

 

 

 

 



94. If the angles of a quadrilateral are xo, 010x , 030x  and 2xo 

then the value of x (in degrees)   

xo, 010x , 030x   2xo 

x  

1. 66 

2. 68 

3. 58 

4. 56 

95. If a = 2 and b = 3 then the value of 
aa b

b a
  

a = 2,  b = 3  
aa b

b a
 

1. 169
36

 

2. 36
169

 

3. 159
36

 

4. 36
159

 

 

96. Square root of 42.25  

42.25  

1. 4.5 

2. 3.5 

3. 6.5 

4. 5.5 



97. If a cycle is marked at ` 3600 and sold for ` 3312 then discount 
percentage is   

` 3600 ` 3312 

 

1. 7 

2. 6 

3. 9 

4. 8 

98. Express 45mm in centimeters 

 

1. 450 

2. 4.5 

3. 4.05 

4. 45 

99. Difference between the greatest and the smallest numbers formed by 
the digits 5, 3, 4, 0 and 7 is    

 

1. 72975 

2. 71593 

3. 75197 

4. 71973 

 

 

 

 



100. Number of Composite numbers in between 11 and 19    

 

1. 3 

2. 4 

3. 5 

4. 6 

101. Periodicity of 0.1275     

0.1275  

1. 1 

2. 75 

3. 12 

4. 2 

102. 76 × 72x = 712  then the value of  x   

76 × 72x = 712  x  

1. 2 

2. 3 

3. 4 

4. 5 

 

 

 

 

 

 



103. ABCD is a quadrilateral and its perimeter is 24 cm.  If AB = 5cm, 
BC = 6cm, CD = 8cm then AD is equal to (in cm)   

ABCD

AB BC CD AD

 

1. 5 

2. 6 

3. 8 

4. 7 

104. Sum of prime numbers between 1 and 25    

 

1. 87 

2. 100 

3. 93 

4. 77 

 

105. ABC  DEF is AB = 5cm, BC = 4 cm, AC = 4cm then  
‘DE + EF’ is equal to (in cm)    

ABC  DEF AB  BC  

AC ‘DE + EF’  

1. 6.5 

2. 8 

3. 7 

4. 9 

 

 

 



106. The range of the values 64, 82, 19, 12, 3, 48, 54 is  

 

1. 82 

2. 79 

3. 74 

4. 3 

 

107. Number of edges of a cube is   

 

1. 8 

2. 10 

3. 12 

4. 14 

108. If the angles of a quadrilateral are in the ratio of 3 : 4 : 5 : 6 then one 
of the angle is    

 

1. 80o 

2. 70o 

3. 110o 

4. 130o 

 

 

 

 

 



109. 40% of a number is 800 then the number is     

 

1. 2000 

2. 3000 

3. 2500 

4. 3250 

110. If length, breadth and height of the cuboid are respectively 15cm, 
12cm and 10cm then its total surface area is (in sq.cm.)     

 

1. 700 

2. 900 

3. 750 

4. 950 

111. If the ratio of 7 : 9 is equal to 49 : y then the value of ‘y’     

 y ‘y’  

1. 49 

2. 63 

3. 77 

4. 70 

 

 

 

 

 



112. If the cost of 6 bottles of juice is ` 210 then the cost of 4 bottles of 
juice is     

`  

1. 104 

2. 105 

3. 140 

4. 150 

113. There are 32 students in a class.  If 3
4

th

  part of them are boys and 

the rest are girls, then the number of girls is   

3
4

 

1. 12 

2. 9 

3. 24 

4. 8 

114. The upper boundary of 1-10 in classes 1-10, 11-20 is   

1. 9.5 

2. 10 

3. 10.5 

4. 9 

 

 

 

 



Maths Methodology 
115. According to Young one of the following is not a value of teaching 

of mathematics  

 1.   Problems-Procedures 

 2.   Mathematical Utilitarian Value 

 3.   Other functions of Mathematics 

 4.   Mathematics as a thinking 

 

116. “Student collects Mathematical essays, news, pictures and prepares 

scrap book” this sentence indicates the following domain of 

educational objectives 

 1.   Cognitive Domain 

 2.   Affective Domain 

 3.   Psycho-motor Domain 

 4.   Activity based Domain 

 



117. The teaching method that is useful to teach the formula for the 

circumference of a circle by measuring and comparing the diameters 

and circumferences of some circles with different radii is  

 1.   Deductive Method 

2.   Laboratory Method 

3.   Synthetic Method 

4.   Analytic Method 

 

  

118. The best teaching method that can be used by a mathematics teacher 

to develop creative and constructive abilities in a student is 

1.   Laboratory Method 

2.  Synthetic Method  

3.   Inductive Method 

4. Heuristic Method 

 



119. The testing programme conducted by NCERT to identify the gifted 

students is  

 1.  National Talent Olympiad 

 2.  National Talent Test 

 3.  National Talent Search 

 4.  Knowledge Olympiad 

 

120. Showing a gas cylinder, water tanks (sintex), trunks of trees etc, for 

teaching the lesson ‘cylinder’ indicates the following learning 

experience in Edgar Dale’s Cone of experience  

 1. Dramatization Experiences 

2.   Direct Experiences 

3.   Field Trips 

4.   Verbal Experiences 

 

 

 



Paper – I SET – 9 - EVS Content  

 

121. Grand Father of King Asoka was 

1.  Bindusara 

2. Mahavira 

3. Chandragupta Maurya 

4. Mahapadma Nanda 

 

122. Archeologitsts have found an earliest temple of Lord Krishna that 
was built some two thousand years ago at this place  

1.  Ujjaini in Madhya Pradesh 

2. Vidisha in Madhya Pradesh 

3. Udaipur in Rajasthan 

4. Madhura in Uttar Pradesh 



123. The first municipality Bheemunipatnam in Andhra Pradesh state was 
established in the year 

 

 

1.  1861 

2. 1851 

3. 1862 

4. 1852 

124. The Nile river originates from this lake 

1.  Tanganyika 

2. Nyasa 

3. Caspian 

4. Victoria 

125. The number of domestic airports in Andhra Pradesh are 

  

1.  4 

2. 5 

3. 6 

4. 7 

 



 

126. One of the following is not a child right 

1.  Right to property 

2. Right to get information 

3. Right to appreciation 

4. Right to relaxation 

127. This state is using solar energy to a maximum extent in our country 

1.  Maharastra 

2. Andhra Pradesh 

3. Tamilnadu 

4. Gujarath 

  



128. This language of tribes is similar to Telugu language - 

1.  Remo 

2. Chenchu 

3. Hatha 

4. Bonda 

129. The leader who has renounced his ‘Knighthood’ against Jalianwala 
Bagh masscare to express his pain and anger 

1.  Bipin Chandra Pal 

2. Rabindranath Tagore 

3. Annie Besant 

4. Bankimchandra Chatterji 

  



130. The upper most layer of atmosphere is 

1.  Mesophere 

2. Ionosphere 

3. Troposphere 

4. Exosphere 

131. The river which is known as Tsangpo in Tibet is 

1.  Brahmaputra 

2. Alakananda 

3. Bhagirathi 

4. Ganga 

  



132. Edison experimented by using different materials one after another 
as filament in making electric bulb. The order of materials used by 
him is, 

1.  Aluminium, woolen thread coated with soot, silk yarn, banana 
 tree fiber 

2. Copper, jute thread coated with soot, woolen yarn, palm fiber 
3. Platinum, cotton thread coated with soot, bamboo wire, cotton 
4. Tungston, silk thread coated with soot, coconut fiber, wool 

thread 

 

133. One  kilo watt =  

1.  10 watts 

2. 100 watts 

3. 1000 watts 

4. 10000 watts 

 



 

134. The effect of an earthquake’s reading of 6.6 on Richter scale is  

1.  Destructive in areas upto 100 kms across where people 
 live 

2. Major earthquakes can cause serious damage over large areas 
3. Great earthquake can cause serious damage over large areas 

several hundred kilometers across. 
4. Can cause major damage to poorly constructed buildings 

135. The angle of vision for a healthy human being is about 

  

1.  50o 

2. 80o 

3. 70o 

4. 60o 

  



136. Intense sweating, nausea and chest pain indicate 

1.  Paralysis 

2. Heart attack 

3. Sun stroke 

4. Malaria 

137. The gas that is present in higher quantity in air is 

1.  Carbondioxide 

2. Nitrogen 

3. Oxygen 

4. Carbonmonoxide 

  



138. Nutrients that help in maintaining good health and disease resistant 
are  

1.  Carbohydrates 

2. Fats, oils 

3. Proteins 

4. Vitamins, minerals 

139. An example for leaf margin of a plant which gives rise to a new 
plant,  

1.  Chrysanthimum 

2. Onion 

3. Bryophyllum 

4. Casurina 

  



140. Delay in healing of wounds and fractures of bones shows the 
deficiency of this Vitamin  

 

 

1.  C 

2. A 

3. D 

4. B12 

141. One of the following is the function of Cerebellum  

1.  Maintains posture, equilibrium and muscle tone 

2. Reflex centre for muscular activities 

3. Reflexes for sight and hearing 

4. Centre for certain emotions and anger 

  



142. Spider belongs to this phylum 

1.  Annelida 

2. Chordata 

3. Arthropoda 

4. Mollusca 

143. Oral Polio vaccine was discovered by 

1.  Dr. Yellapragada Subba Rao 

2. Dr. Jonas Salk 

3. Dr. Ronald Ross 

4. Dr. Albert Sabin 

  



144. One of the following is an example for vegetable crop weeds  

1.  Garika, Wanza 

2. Jeeluga, Gaddi Chamanthi 

3. Dharaka, Buradha Thunga 

4. Pogaku Malle, Pulichinta 

145. “Grouping of living organisms in nature basing on the similarities 
and differences between them” comes under the following basic 
process… 

1.  Controlling Variables 

2. Interpretation of data 

3. Classification 

4. Formulating Hypothesis 

  



146. One of the following objective comes under Affective Domain 

1.  Imitation 

2. Valuing 

3. Precision 

4. Interpretation 

147. “Visiting a nearby milk chilling centre and observe the process of 
pasteurization and prepare a project for explanation of its process” 
comes under the following Academic Standard…. 

1.  Conceptual Understanding 

2. Information skills and projects 

3. Asking questions and making hypothesis 

4. Experimentation and field investigation 

  



148. An example for direct experience … 

1.  Observing photographs 

2. Screening figures in computer 

3. Participation in Science fair 

4. Listening to Radio Recording 

 

149. The principle of curriculum construction which gives more 
importance to field experiences like, visits to weavers households 
along with individual laboratory experiences… 

1.  Principle of integration 

2. Principle of conservation 

3. Principle of maturity 

4. Principle of activity centeredness 

 

 



150. The Evaluation done after the completion of the course … 

1.  Diagnostic 

2. Formative 

3. External 

4. Summative 


